



AD

The Effects of Blast Trauma (Impulse Noise) on Hearing: A Parametric Study Source IV

Report No. ARL 91-1

Annual Report



8 21 155

Roger P. Hamernik William A. Ahroon George A. Turrentine Robert I. Davis Keng D. Hsueh Sheau Fang Lei

May 1991

Supported by

U.S. Army Medical Research and Development Command Fort Detrick, Frederick, Maryland 21702-5012

Contract No. DAMD17-86-C-6172

The Research Foundation of the State University of New York

State University of New York at Plattsburgh Plattsburgh, New York 12901

Approved for public release; distribution is unlimited

The findings in this report are not to be construed as an official Department of the Army position unless so designated by other authorized documents.



SECURITY CLASSIFICATION OF THIS PAGE							
REPORT D	OCUMENTATIO	N PAGE			Form Ap OMB No Exp. Dat	oproved > 0704-0188 te Jun 30, 1986	
1a. REPORT SECURITY CLASSIFICATION Unclassified		16. RESTRICTIVE I	MARKINGS				
2a. SECURITY CLASSIFICATION AUTHORITY		3. DISTRIBUTION	AVAILABILITY OF	REPORT			
2b. DECLASSIFICATION / DOWNGRADING SCHEDU	LE	Approved distribut	for public 1 ion unlimite	release ed	2;		
4. PERFORMING ORGANIZATION REPORT NUMBE	5. MONITORING C	DRGANIZATION RE	PORT NUI	MBER(S)			
6a. NAME OF PERFORMING ORGANIZATION The Research Foundation cf the State University of New Yorl	ONITORING ORGAN	NIZATION					
6c. ADDRESS (City, State, and ZIP Code)		7b. ADDRESS (City	y, State, and ZIP C	iode)			
P.O. Box 9 Albany, NY 12201-0009							
8a. NAME OF FUNDING/SPONSORING ORGANIZATION U.S. Army Medical	8b. OFFICE SYMBOL (If applicable)	9. PROCUREMENT INSTRUMENT IDENTIFICATION NUMBER					
Research & Development Command		DAMD17-86-C-6172					
8c. ADDRESS (City, State, and ZIP Code)	10. SOURCE OF FUNDING NUMBERS						
Fort Detrick	~ ~	PROGRAM ELEMENT NO.	PROJECT	NO.		ACCESSION NO	
Frederick, Maryland 21702-50	61102A	61102BS15	СВ		011		
11. TITLE (Include Security Classification)							
(U) The Effects of Blast Trauma	a (Impulse Noise	e) on Hearing	: A Paramet:	ric Stu	ıdy Sc	ource IV.	
12. PERSONAL AUTHOR(S) Roger P. Hame: Robert I. Day:	rnik, William A. is, Keng D. Hsue	Ahroon, Geo h and Sheau	rge A. Turro Fang Lei	entine,	,		
13a. TYPE OF REPORT13b. TIME COAnnualFROM 4/	оvered 1/90_ то <u>3/31/9</u> 1	14. DATE OF REPO 1991 May	RT(Year, Month, I	Day) 15.	PAGE C 40	OUNT	
16. SUPPLEMENTARY NOTATION							
17. COSATI CODES	18. SUBJECT TERMS (Continue on reverse	e if necessary and	identify l	by block	: number)	
FIELD GROUP SUB-GROUP	RA 3,						
	Blast T	frauma Imp	ulse Noise	Hear	ring		
19. ABSTRACT (Continue on reverse if necessary	and identify by block n	number)					
There are three broad gos study the effects of high level structures of the mammalian eau to measure hearing thresholds a	als to this cont blast wave exp . This include and tuning curve	ract. The f oosure on the s the use of s prior to a	irst and pr conductive the audito nd after exp	imary o and se ry evol posure	goal i ensory ked po to va	is to 7 Stential Arious	

blast waves. Parameters of the blast waves studied include intensity, spectral composition, number of impulses and repetition rate. Correlations among hearing measures, exposure variables and histology have been developed. To achieve the above, the following two secondary objectives had to be completed: (1) develop a series of blast wave generation devices which are suitable for the laboratory simulation of a wide variety of blast waves; and (2) develop a suitable set of software and a PC-based computer system which can interact with crystal and capacitive microphones to capture and analyze blast Four blast wave sources have been developed along with an analysis system. The waves

(continued on reverse)

20. DISTRIBUTION / AVAILABILITY OF ABSTRACT	21 ABSTRACT SECURITY CLASSIFICATION
UNCLASSIFIED/UNLIMITED 🖾 SAME AS RPT 🗂 DTIC	USERS Unclassified
22a. NAME OF RESPONSIBLE INDIVIDUAL	22b TELEPHONE (Include Area Code) 22c OFFICE SYMBOL
Mary Frances Bostian	301-663-7325 SGRD-RMI-S
DD FORM 1473, 84 MAR 83 APR edition may be t	used until exhausted SECURITY CLASSIFICATION OF THIS PAGE

Allother	editions	are	obsolete
	earcons	0 . C	00,0.000

19. Abstract (continued)

results from Source I (a conventional shock tube) were summarized in reports ADA 206-180 and ADA 203-854. Source II results were summarized in report ADA 221-731 while Source III results were summarized in report ADA 228-368. This report summarizes the results from Source IV, an electrical spark discharge device which generates a blast wave in anechoic (free-field) surroundings whose peak of the A-weighted energy spectrum is in the 4 kHz octave band.

SUMMARY

There are three broad goals to this project. The primary goal is to begin the systematic development of a data base from which one could estimate the hazards to hearing resulting from exposure to blast waves or other high level impulse noise transients. To achieve this objective the following two additional objectives must first be achieved: (1) develop a methodology to efficiently acquire data on a large number of experimental animals that have been exposed to a variety of blast wave configurations. This includes audiometric, histological and acoustic variables; (2) develop a set of blast wave simulation devices which can reliably generate blast waves with a variable distribution of spectral energy in a laboratory environment.

Four previous progress reports (ADA 206-180, ADA 203-854, ADA 221-731 and ADA 228-368) from this contract have documented the results and methodology associated with items (1) and (2) above. In addition, the audiometric and histological results from 109 chinchillas exposed to nonreverberant blast waves, whose A-weighted spectral peak was in the 0.250 kHz octave band, produced by Source I were described in the first two reports. The third and fourth reports summarized similar results from 105 chinchillas exposed to non-reverberant blast waves with an A-weighted spectral peak in the 1.0 kHz octave band produced by Source II and from 105 chinchillas exposed to non-reverberant blast waves (Source III) with an A-weighted energy spectral peak in the 2.0 kHz octave band, respectively. This report documents the results of parametric experiments performed on 104 chinchillas exposed to nonreverberant blast waves produced by an electrial spark discharge (Source IV) whose peak of the A-weighted energy spectrum is in the 4.0 kHz octave band.

The general conclusions that can be drawn from these data are very similar to those that were made for the impulses produced by Sources I, II and III. However, the four sources do differ in the magnitude of the absolute energy levels of the exposure at which trauma begins to develop and in the frequency (place) of maximum effect. In summary, (1) There was no statistical difference in the amount of hearing loss or the amount of sensory cell loss for exposure to a single impulse at 150, 155, or 160 dB peak SPL. Individual animals showed no permanent hearing loss and no significant sensory cell loss. (2) The variability in hearing and cell losses across animals increases as the severity of the exposure increases. The variability in the results makes it difficult to describe the data with conventional statistics. (3) A general, though not surprising, trend in the data is that as the peak levels and the N increase, permanent effects increase. Also, for a constant peak and energy level, the more rapid presentation rate (10/min) generally seemed to produce the greater effect although the effect is not consistent.

Since the experimental data reported nere were derived from an experimental protocol that was identical to that reported in our previous annual reports, the format of the data presentation has been kept the same. An appendix of the complete individual animal data will be submitted at the conclusion of the contract to the contract officer's representative (COR).

- 2

\frown	Accesion For	• •
	NTIS CRA&I J DTIC TAB L Unannounced () Justification	
	By Dist.ibution/	
-	Availability 22	1
	Dist Avail a f	•

FOREWORD

Disclaimer:

ale.

Citations of commercial organizations and trade names in this report do not constitute an official Department of the Army endorsement or approval of the products or services of these organizations.

Animal Use:

In conducting the research described in this report, the investigators adhered to the "Guide for the Care and Use of Laboratory Animals," prepared by the Committee on Care and Use of Laboratory Animals of the Institute of Laboratory Animal Resources, National Research Council (DHHS Publication No. (NIH) 56-23, revised 1985).

TABLE OF CONTENTS

.

•

PA	GE NO.
Summary	2
Foreword	3
Table of Contents	4
List of Tables	5
List of Figures	6
I. Introduction	7
II. Parametric Experiments	8
A. Experimental Methods	8
i. Subjects	8
ii. Preexposure Testing	8
iii. Blast Wave Generation, Measurement and Analysis .	9
iv. Exposure of Animals	10
v. Postexposure Testing	13
vi. Cochlear Histology	13
B. Results	13
i. Preexposure Thresholds	13
ii. Noise Exposures	16
iii. Postexposure Audiometric Results	16
iv. Frequency	18
v. Impulse Presentation Rate	24
vi. Number of Impulses	25
vii. Impulse Peak Pressure	25
C. Conclusions	34
III. Bibliography	38
Distribution List	40

LIST OF TABLES

والإحار والملا سامته ماله المالية والمناد والمدوات والمداور

Control of

فعيدكية وفقروهم

and a second

6 mm 18

كالمتخلف فالمتحد

E

Table	I.	A definition of the experimental groups	11
Table	II.	Summary of mean preexposure thresholds (dB) for all animals (N=104) compared to published norms	14
Table	III.	Preexposure threshold means (dB) and standard deviations for all groups	15
Table	IV.	Analysis of variance summary table of preexposure thresholds	17
Table	v.	Total weighted and unweighted energy flux (J/m^2) values for each exposure condition	17
Table	VI.	Octave band unweighted and A-weighted energy flux (J/m^2) for a single impulse generated by the spark gap source.	17
Table	VII.	Octave band unweighted and A-weighted sound exposure levels for a single impulse generated by the spark gap source	18
Table	VIII.	Analysis of variance summary tables for groups exposed to 1 impulse	21
Table	IX.	Analysis of variance summary tables for groups exposed to 10 impulses	22
Table	x.	Analysis of variance summary tables for groups exposed to 100 impulses	23
Table	XI.	Summary evaluation of the exposure producing the greatest degree of trauma based upon the repetition rate of the impulse. Trauma is estimated on the basis of PTS and/or sensory cell loss	24
Table	XII.	Summary evaluation of the exposure producing the largest mean PTS evaluated at 1, 2 and 4 kHz, based upon the repetition rate of the impulse	25
Table	XIII.	Analysis of variance summary tables for all groups collapsed across the rate variable	26

LIST OF FIGURES

5,22,2

÷

Figure 1	•	Schematic diagram of the electrical spark gap generator	12
Figure 2	•	Mean preexposure thresholds for 104 chinchillas	14
Figure 3	•	Amplitude spectra and pressure-time waveforms for the blast waves from the electrical spark gap	19
Figure 4	•	The unweighted (upper) and A-weighted (lower) octave band analysis of the three blast waves	20
Figure 5		Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 1 blast wave	27
Figure 6	i.	Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 150 dB peak SPL	28
Figure 7	•	Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 100 blast waves at 150 dB peak SPL	29
Figure 8		Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 155 dB peak SPL	30
Figure 9		Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of anim is exposed to 100 blast waves at 155 dB peak SPL	31
Figure 1	.0.	Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 160 dB peak SPL	32
Figure 1	.1.	Mean TS _{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 100 blast waves at 160 dB peak SPL	33
Figure 1	2a.	The distribution of mean $PTS_{1,2,4}$ from individual animals (N=104) for all exposure conditions	36
Figure 1	2Ъ.	The distribution of percent outer cell losses from individual animals (N=104) for all exposure conditions	37
Figure 12	2c.	The distribution of percent inner cell losses from individual animals (N=104) for all exposure conditions	37

I. INTRODUCTION

92

There are a number of different suggested standards for exposure to impulse/impact noise [e.g. Coles, et al. (1968), Smoorenburg (1982), and Pfander (1980)]. Although each of these criteria has its proponents, there is a consensus that there is, in fact, an extremely limited empirical data base upon which a standard can be built. The difficulties associated with generating a data base are compounded by the extremely broad range of high intensity noise transients that exist in various industrial and military environments. For example, in industry, impacts often occur as a pseudorandom sequence, having variable peak intensities, and are superimposed on a continuous noise background. This combination produces a highly non-Gaussian noise of variable character often with a very high kurtosis. While rms SPLs' might be within the limits of hearing conservation standards, peaks in excess of 130 dB or more can be very common but irregular in their temporal characteristics. At the other extreme, the diversity of military weapon systems produce impulses which originate as the result of a process of shock wave formation and propagation following high energy discharges. These waves, which can have peak levels in excess of 180 dB, can be either reverberant or non-reverberant in nature depending upon the environment in which they are encountered and they also may be superimposed on a background noise. Trying to develop a single standard to cover this broad range of "acoustic" signals is a formidable task.

The primary goal of this research project is to produce a data base from which one could estimate the hazards to hearing associated with a wide variety of non-reverberant blast wave exposures. To achieve this objective four different blast wave generation devices were designed. Three of these sources are based upon shock tube methods and one uses a high energy electrical discharge to produce a shock wave. The four sources produce pressure-time waveforms whose A-weighted amplitude spectra peak at four different regions of the audible spectrum. The conventional shock tube (Source I) has maximum Aweighted energy in the .250 kHz octave band; the 5-inch "Lamont" rapid acting valve driven shock tube (Source II) has its energy maxima in the 1 kHz octave band; the 3-inch "Lamont" tube (Source III) has its energy maxima in the 2 kHz octave band; while the spark discharge energy (Source IV) is concentrated in the 4 kHz octave band. These sources in anechoic surroundings produce nonreverberant waves that approximate the ideal Friedlander wave. By varying the exposure variables such as peak sound pressure level (SPL), number of impulses and the presentation rate, the relation between these variables and auditory system trauma can be established. A brief background and literature review which summarizes the current state of knowledge on the contribution of these parameters to hearing loss was presented in the first progress report ADA 206-180 which documents the results of exposure to the very low frequency blast waves that are produced by Source I. The results produced by Sources II and III are documented in reports ADA 221-731 and ADA 228-368 respectively. This present report, which documents the audiometric and histological results of exposure to the impulses produced by Source IV, follows a pattern of data presentation that parallels the presentation format of reports ADA 206-180, ADA 221-731 and ADA 228-368. In addition to the importance of the parameters mentioned above the relation between the spectral characteristics of the impulse and the subsequent hearing loss can begin to be explored. This spectral question is an important one for which very little experimental data This issue will be addressed in the final report from this are available. contract. An appendix of all the audiometric and histological data from Source IV will be made available at the termination of this contract to the [Note: The format of this report follows essentially the same format COR. used for the presentation of the results from Sources I, II and III.]

II. PARAMETRIC EXPERIMENTS

A. EXPERIMENTAL METHODS

The methodology used to acquire the data presented in this report has been reported in detail in our earlier report ADA 206-180. Briefly, the basic experimental protocol that is common to all of the experiments consists of the following steps: (1) Preexposure evoked potential audiograms and tuning curves (TC's) are measured on each animal. (2) The animals are exposed to noise under well controlled conditions. The temporal and spectral characteristics of the noise are recorded. (3) The animal's evoked response thresholds are again measured immediately after exposure and at regular intervals after exposure. At 30 days postexposure, the audiogram is again measured to establish the animal's permanent threshold shift, (PTS), and postexposure IC's are once again collected at all audiometric test frequencies. (4) The animals are euthanized and their cochleas are then prepared for microscopic analysis. Cochleograms, which provide a quantitative description of the extent and location of the hair cell lesions, are prepared for each cochlea.

Subjects: The chinchilla was used as the experimental animal. Over the years, the chinchilla has been used in a wide variety of auditory experiments and consequently, much is known about its threshold (Miller, 1970; Salvi et al., 1978), psychophysical tuning curves (McGee et al., 1976; Salvi et al., 1982a), threshold for gap detection (Giraudi et al., 1980) and amplitude modulated noise (Salvi et al., 1982b). These psychophysical results indicate that the chinchilla's hearing capabilities are quite similar to those of man. The chinchilla is perhaps the most common animal used in noise trauma research even though there is a general consensus that the species is more susceptible to noise trauma than is man. However, phenomenologically the chinchilla is considered to be a suitable model for man. Thus, the chinchilla was chosen as a reasonable animal mode.

One hundred and four (104) chinchillas were used in this study. Each animal was anesthetized [IM injection of Telazol⁽²⁾ (Tiletamine-Zolazepan, 30.0 mg/kg)] and made monaural by the surgical destruction of the left cochlea. A chronic electrode was implanted near the inferior colliculus for single-ended near-field recording of the evoked potential (Henderson et al., 1973; Salvi et al., 1982a). Each animal was given Amoxicillin⁽²⁾ (100.0 mg/kg, subcutaneous) to reduce the possibility of postoperative infection. The animals were allowed to recover for at least two weeks before evoked potential testing began.

Preexposure testing: Hearing thresholds were estimated on each animal using the auditory evoked potential (AEP). The AEP has been shown to be a valid index of hearing threshold in the chinchilla. The correlation between the behavioral and evoked response measures has been strengthened by directly comparing, in the same animal, estimates of noise-induced behavioral and evoked potential threshold shifts (Henderson et al., 1983; Davis and Ferraro, 1984). There is a close correlation between the behavioral and evoked response thresholds before, during, and after acoustic overstimulation. In other words, the evoked potential threshold estimation procedure provides a good estimate of the magnitude of noise-induced hearing loss. The animals were awake during testing and restrained in a yoke-like apparatus to maintain the animal's head in a constant position within the calibrated sound field. AEP's were collected to 20 msec tone bursts (5 msec rise/fall time) presented at a rate of 10 per second. A general-purpose computer (Digital Equipment Corporation MicroPDP-11/73) with 12-bit A/D converter(Data Translation 3362), timer (ADAC 1601) and digital interface (ADAC 1632) was used to acquire the evoked potential data and control the frequency, intensity and timing of the stimulus via a programmable oscillator (Wavetek 5100), programmable attenuator (Spectrum Scientific MAT) and electronic switch (Coulbourn Instruments S84-04). The electrical signal from the implanted electrode was amplified (50,000x) and filtered (30 Hz to 3000 Hz) by a Grass P511J biological amplifier and led to the input of the A/D converter where it was sampled at 20 kHz (50 msec period) over 500 points to obtain a 25 msec sampling window. Each sampled waveform was analyzed for large amplitude artifacts; and if present, the sample was rejected from the average and another sample taken. Averaged AEP's were obtained from 250 presentations of the 20 msec signal. Each waveform was stored on disk for later analysis.

1

Thresholds were measured using an intensity series with 5 dB steps at octave intervals from 0.5 to 16.0 kHz and at the half-octave frequency of 11.2 kHz. Threshold was determined to be one half step size (2.5 dB) below the lovest intensity that showed a "response" consistent with the responses seen of higher intensities. The intensity resolution of our method is 5 dB. The average of at least three separate threshold determinations at each frequency obtained on different days was used to obtain the preexposure audiogram.

Tone-cn-tone masking functions (i.e., AEP tuning curves, see e.g., Salvi et al., 1932a) were measured on three animals in each group at six probe frequencies between 0.5 and 11.2 kHz presented at 15 dB above the preexposure threshold. A simultaneous masking paradigm was used (McGee et al., 1976). The probe tone had a duration of 20 ms and the intensity was set at 15 dB sensation level at the given test frequency. A simultaneous pure tone masker was presented at increasing levels until the masker just abolished the evoked potential elicited by the probe tone. The procedure was repeated over a range of masker frequencies around the probe tone to yield a "V" shaped masking function. The AEP has been shown to provide as good an estimate of the frequency selectivity as that obtained by behavioral techniques (Salvi et al., 1982a). It also shows that a small population of neurons within a restricted frequency band are contributing to the AEP at near threshold intensities. The advantage of the AEP tuning curves is that they provide an independent method of assessing frequency selectivity and a method that is much easier to apply than behavioral techniques. Ten masker frequencies (from a Wavetek Model 23 programmable frequency synthesizer) distributed in frequency above and below the probe tone frequency were presented in an intensity series with 5 dB The masked threshold was taken as one half a step size (2.5 dB) above steps. the last masker intensity that resulted in a "response". TC's were run on 62 chinchillas (i.e., 3 from each group) from which 372 preexposure TC's and 372 postexposure TC's were obtained. All the individual animal data is tabulated in a data appendix which will be submitted to the COR at the termination of this contract. The results of an analysis of a portion of the TC data is published in Davis et al. (1989) and will not be repeated in this document. A final analysis of the TC data will be included in the final report.

Blast Wave Generation, Measurement and Analysis: A principal requirement for this study was the precise measurement and recording of the blast wave. The computer system used for this purpose was a Compaq 286 Deskpro personal computer using the ASYSTTM application package (ASYSTTM Software Technologies, Inc., Rochester, NY). The blast wave was first digitized and then recorded in storage devices (e.g., hard disk or magnetic tape). By using the customized software developed in our laboratory, each digitized blast wave was analyzed to extract characteristics such as the total acoustic energy, energy spectrum, peak and root-mean-square (RMS) sound pressure level (SPL) etc.

A schematic diagram of the equipment used to generate the high-energy electrical spark discharge is illustrated in Figure 1. The SPL of the blast wave can be controlled by systematically adjusting the voltage to the spark gap electrodes, the distance between the electrodes and the distance of the subject from the electrodes. The pressure-time history of the blast wave was recorded using a transducer located on the center line at a variable distance from the spark gap. The experimental animal was mounted next to the transducer.

Two different types of transducers were used to convert the dynamic acoustic pressure into an analog signal. The B&K 1/8 inch microphone (Type 4138) and the PCB crystal microphone (Model 112A22) were selected because of their ability to record high peak levels and their relatively fast rise times. A B&K microphone preamplifier (Type 2639), a B&K measuring amplifier (Type 2606), and a PCB six-channel amplifying power unit (Model 483A08) were used to amplify the analog signals from the B&K and PCB microphones respectively. Both transducers yielded identical results. The amplified analog signals were monitored on an oscilloscope. The output signal from the transducers was amplified and, in order to avoid aliasing problems that can occur in analogto-digital (A/D) conversion, the amplified signals were filtered using an anti-aliasing filter prior to digitizing. The sampling rate of the A/D convertor (12-bit) was set at 500 kHz and the cut off frequency of the antialiasing filter was set at 150 kHz (approximately 1/3 of the sampling rate). For each blast wave, 16,384 samples were recorded for later analysis. Software was written using this PC-based system to perform the following computations: total sound exposure and exposure level calculations (Young, 1970); energy flux calculations; and spectral analysis using a 4096-point FFT; A-weighted analysis, etc.

Thus, for each impact the total sound exposure or exposure level could be calculated (i.e., the time integrated, squared sound pressure). For the impulse data presented here, the total sound exposure was divided by the standard characteristic impedance of air, $\rho c = 406$ mks rayls, to produce a quantity with units of energy flux (i.e., J/m^2). Similarly, all spectral quantities $|P(\omega)|^2$ were converted to units of energy flux spectral density, and for each impulse exposure, the total "energy flux" in the octave bands having center frequencies at the audiometric test frequencies was calculated. [Since only p(t) was measured, the true energy flux cannot be obtained except in the special case of a plane wave.]

Exposure of Animals: For a given exposure condition, each chinchilla was exposed at the same fixed location relative to the spark gap electrodes. During exposure the animal was unanesthetized but immobilized in a leather harness (Patterson et al., 1986). The right pinna was folded back and fixed in place to insure that the entrance of the external meatus was not obstructed and the position of the entire animal was adjusted so that the cross sectional plane of the reatus was oriented parallel to the advancing shock front (i.e., a normal incidence).

Each experimental group of animals consisted of five animals. Each animal was individually exposed to one of the exposure conditions shown in Table I. A total of 104 animals were used to complete this experimental paradigm. (Note: one animal was lost in Group 5 due to otitis interna.)

		TABLE I		
	A De	efinition of the Expe	rimental Group	8
Group	N	Intensity	Number	Rate
1	5	150 dB Peak SPL	1	
2	5	150 dB Peak SPL	10	10 per minute
3	5	150 dB Peak SPL	10	1 per minute
4	5	150 dB Peak SPL	10	1 per 10 minutes
5	4	150 dB Peak SPL	100	10 per minute
6	5	150 dB Peak SPL	100	1 per minute
7	5	150 dB Peak SPL	100	1 per 10 minutes
8	5	155 dB Peak SPL	1	
9	5	155 dB Peak SPL	10	10 per minute
10	5	155 dB Peak SPL	10	1 per minute
11	5	155 dB feak SPL	10	1 per 10 minutes
12	5	155 dB Peak SPL	100	10 per minute
13	5	155 dB Peak SPL	100	1 per minute
14	5	155 dB ŀaak SPL	100	1 per 10 minutes
15	5	160 dB Peak SPL	1	
16	5	160 dB Peak SPL	10	10 per minute
17	5	160 dB Peak SPL	10	1 per minute
18	5	160 dB Peak SPL	10	l per 10 minures
19	5	160 dB Peak SPL	100	10 per minute
. 20	5	160 dB Peak SPL	100	1 per minute
21	5	160 dB Peak SPL	100	1 per 10 minutes
Total	104			

4

Ĩ

- 11 -



~

Schematic of the spark discharge impulse noise source. Figure 1. Postexposure Testing: After the exposure was complete, threshold recovery functions were measured at 0.5, 2.0 and 8.0 kHz at 0, 2, 8, 24 and 240 hours after removal from the noise (using the same method as described for preexposure testing). After at least 30 days, final audiograms were constructed using the average of three separate threshold determinations at each of the seven preexposure frequencies. Permanent threshold shift (PTS) was defined as the difference between the postexposure and preexposure thresholds at each individual test frequency. Postexposure AEP tuning curves were collected at the six preexposure probe tones presented at 15 dB above the postexposure threshold.

<u>Cochlear Histology</u>: Following postexposure audiometric testing, animals were euthanized by decapitation and the cochleas were immediately removed and The cochleas were dissected and the status of the sensory cell fixed. population was evaluated using conventional surface preparation histology (Engstrom et al., 1966). Briefly, the stapes was removed and the round window membrane opened to allow transcochlear perfusion, via the scala tympani/scala vestibuli with cold 2.5% glutaraldehyde in veronal acetate buffer at 7.3 pH (605 mOsm). Postfixation was performed on the following day with one percent osmium tetroxide in veronal acetate buffer (pH 7.3) for 30 minutes. The cochleas were dissected and the entire sensory epithelium along with the lateral wall structures was mounted in glycerin on glass slides. [See Hamernik et al., (1987) for a more complete description]. The status of sensory and supporting cells were evaluated with Nomarski Differential Interference Contrast microscopy and entered into a data-base on a laboratory computer (Digital Equipment Corporation MicroPDP-11/73 and Macintosh II). Standard cochleograms were then constructed by computing the percent sensory cell loss across the length of the cochlea in 0.24 mm steps. These cell loss figures were then converted into percent loss over octave bands centered at the audiometric test frequencies along the length of the cochlea and correlated with the frequency-place map constructed by Eldredge et al. (1981).

B. RESULTS

The results of the present experiments are grouped into sections devoted to preexposure threshold data, analysis of the exposure stimuli and postexposure threshold and histological data. The audiometric and histological dependent variables were analyzed using mixed design analyses of variance with repeated measures on one factor (frequency). The SPSS (Release 4) statistical package was used and the probability of a type I error was set at 0.05.

Preexposure Thresholds: The mean preexposure thresholds for all 104 animals are reported in Table II and plotted in Figure 2 along with the behavioral audibility curve published by Miller (1970). The Miller curve was corrected for the effects of temporal integration using the data of Henderson, (1969). The error bars in this figure represent one standard deviation above and below the mean. The mean preexposure thresholds are generally better than Miller's (1970) behavioral thresholds at the mid-frequencies when the (approximate 11.1 dB) effects of temporal integration are taken into consideration. Lower thresholds, which are also found in other published data, probably reflect improvements in the techniques of AEP recording. The mean preexposure thresholds for the 21 individual groups of animals and the mean preexposure thresholds for all 104 subjects are summarized in Table III.

Table II

Summary of Mean Preexposure Thresholds (dB) for All Animals (N = 104) Compared to Published Norms

Test Frequency (kHz)

Miller (1970)	19.6 5.2	2.5 5.1	8.8 5.7	-2.5 6.6	14.0	12.4	21.8	x
Miller (1970)	5.2	5.1	5.7	6.6	6.6			
Miller (1970)						1.3	7.3	S
	5.1	3.0	2.7	1.9	5.8	9.9	12.1	x
(750 ms signals)	6.1	4.1	4.7	7.1	5.4	6.7	6.9	3
•	36	36	36	36	36	34	36	N
Miller (1970)	16.2	14.1	13.8	13.0	16.9	21.0	23.2	ī



Figure 2. Mean preexposure thresholds for 104 chinchillas.

TABLE III

1.1

a.,

Preexposure Threshold Means (dB) and Standard Deviations for all Groups

						Test	Freque	ency (k	Hz)			
dB 1	Peak	¥	Rate	N	0.5	1.0	2.0	4.0	8.0	11.2	16.0	
150	dB	1		5	17.2 4.8	0.8 3.7	4.8 4.5	-0.5 7.4	15.2 3.0	11.2 6.4	20.5 4.5	x s
150	dB	10	10/m	5	17.5 5.7	1.8 10.1	3.8 2.2	-1.5 6.7	16.2 5.6	15.8 7.7	24.5 9.7	x s
150	dB	10	1/m	5	17.2 4.0	3.2 2.8	7.8 5.9	-4.5 7.4	12.2 8.6	7.5 7.2	20.2 11.0	x s
150	dB	10	1/10m	5	17.5 7.4	0.8 5.9	7.5 3.9	-2.8 8.4	7.5 5.9	9.8 6.5	16.5 6.3	x s
150	dB	100	10/m	4	18.8 4.2	1.7 4.4	15.8 2.7	1.7 5.2	15.0 8.4	15.4 2.1	22.9 5.5	x s
150	dB	100	1/m	5	19.8 5.1	-0.2 6.6	10.5 2.2	-6.2 7.8	15.8 5.7	13.5 11.0	20.2 7.0	x
150	dB	100	1/10m	5	18.5 6.7	3.2 5.1	7.8 9.7	-5.5 5.5	7.5 5.4	5.8 8.7	18.8 2.5	x
155	dB	1		5	23.5 5.1	2.5 6.1	8.5 6.3	-3.5 5.8	14.2 7.5	11.5 7.1	23.5 9.9	x s
155	dB	10	10/in	5	21.5 1.5	4.5 4.8	11.8 5.7	-2.2 6.2	18.2 6.9	13.2 8.6	23.2 4.7	x s
155	dB	10	1/m	5	20.2 8.6	3.5 7.5	8.2 7.5	-6.5 5.8	14.5 5.3	21.8 10.3	23.8 6.8	X S
155	dB	10	1/10m	5	19.2 3.1	2.5 3.9	12.5 3.1	-0.5 7.3	19.8 4.5	14.5 6.4	25.8 5.8	x s
155	dB	100	10/m	5	19.5 6.3	3.5 3.8	10.2 2.5	-4.5 5.3	9.5 3.8	10.8 5.4	18.2 5.7	x s
155	dB	100	1/m	5	18.2 1.5	1.2 3.6	8.5 3.7	-6.8 7.7	10.8 7.7	13.5 2.5	23.2 2.5	x s
155	dB	100	1/10m	5	19.5 4.0	2.8 8.9	10.2 10.8	-2.5 6.1	13.2 8.0	5.8 5.5	14.8 0.9	x s
160	dB	1		5	20.2 3.5	4.8 1.9	11.2 4.1	2.2 2.2	14.5 4.0	13.8 5.2	21.2 7.7	x s
160	dB	10	10/m	5	21.8 3.5	4.5 4.3	12.2 6.2	1.8 10.6	11.5 7.7	14.5 2.2	24.2 6.3	x
160	dB	10	1/m	5	23.2 6.1	0.5 3.8	4.2 3.5	-3.8 3.6	14.8 8.9	10.2 9.2	16.2 5.1	x s
160	dB	10	1/10m	5	22.5 7.0	5.5 5.8	11.2 2.7	2.8 5.9	15.8 8.6	14.2 5.4	23.5 6.9	- X S
160	dB	100	10/m	5	19.5 5.2	2.2 4.0	9.2 4.9	-4.2 7.5	15.2 2.5	8.5 8.1	27.8 15.7	x s
160	dB	100	1/m	5	20.2 4.0	-1.2 3.2	3.5 4.0	-2.8 4.0	12.2 5.9	16.5 5.6	20.8 5.1	- X S
160	dB	100	1/10m	5	16.8 8.9	3.5 3.0	7.2 5.2	-2.2 7.8	20.2 3.7	13.5 5.7	27.5 5.9	x s

The audiological dependent variables of the study reported are maximum threshold shift (TS_{max}) and PTS. Each of these variables is computed by subtracting the preexposure from the postexposure thresholds. Thus, each animal serves as its own control subject. There were no statistically significant differences in mean preexposure thresholds among groups (F = 1.27, df = 20/83). There was a statistically significant frequency main effect (F = 258.28, df = 6/498) that was anticipated on the basis of our previous knowledge of the chinchilla audiogram (Fay, 1988). The interaction between group and frequency was not statistically significant (F = 1.11, df = 120/498). The analysis of variance for the preexposure thresholds is summarized in Table IV.

Noise Exposures: Pressure-time histories for each of the three intensity waves produced by Source IV are shown in Figures 3 (a-c). A time record over a period of 2 ms is shown. The Fourier energy spectrum for these same three waveforms over the entire 8.2 ms window is also shown in Figure 3 (a-c). The total energy flux for each exposure condition is presented in Table V in relative dB levels as well as in J/m^2 . A tabulation of the octave band A-weighted and unweighted energy flux values for a single impulse at 150, 155 and 160 dB peak SPL is presented in Table VI. A similar tabulation of octave band sound exposures levels (SEL) (Young, 1970) is presented in Table VII where:

SEL = 10 log₁₀ $\left[\frac{\int p^2(t) dt}{p_{ref}^2 \Delta t_{ref}}\right]$ $p_{ref} = 20 \mu Pa \text{ and } \Delta t_{ref} = 1s.$

The data presented in Table VI is also shown plotted as a bar graph in Figure 4 to facilitate the comparison of the three waves used for the exposures. For all three peak intensities, each wave had a similar p-t profile and similar A-weighted and unweighted spectral distribution of energy. The octave band analysis clearly shows that the peak of the energy spectrum lies in the 4 kHz octave band for each of the three intensity waves.

Postexposure Audiometric Results: There are four independent variables in the present experiments: number of impulses (1X, 10X or 100X), impulse peak level (150, 155 or 160 dB SPL), impulse presentation rate (10/min, 1/min or 1/10m), and frequency (i.e., audiometric test frequency or basilar membrane location). The dependent variables are TS_{max} , PTS, percent outer hair cell loss and percent inner hair cell loss. The independent variable of frequency is the only within-subjects variable. The experimental design did not lend itself to a typical four factor mixed design analysis of variance since there was no rate variable for the three groups exposed to a single impulse. Therefore, several different analyses were performed on each of the four dependent variables. Since the rate variable could not be applied to an analysis which included all groups, the rate variable was analyzed as one variable in a three-factor mixed-design analysis of variance with impulse peak and frequency as the other two factors. In other words, two separate threefactor analyses were performed, the first on the groups exposed to 10 impulses, and the second on the groups exposed to 100 impulses (see Tables IX and X). The remaining three groups (i.e., the 1x groups) were analyzed using a two-factor mixed-design analysis of variance with only impulse peak and frequency as independent variables (see Table VIII). Thus, each of the above analysis were performed only upon those groups that were exposed to an equal number of impulses. The main effect of the number of impulses was determined using a separate three-factor mixed design analysis of variance with peak, number and frequency as the independent variables (i.e., the data were collapsed across rate, see Table XIII).

Table IV

Analysis of Variance Summary Table of Preexposure Thresholds Source of Variation SS df MS F

Groups	2194.59	20	109.73	1.27	.223	
Between Subjects	7176.65	83	86.47			
Frequency	47777.96	6	7962.99	258.28	.000	
Groups x Frequency	4103.71	120	34.20	1.11	.225	
Within Subjects	15353.49	498	30.83			

р

Table V

Total Weighted and Unweighted Energy Flux (J/m^2) Values for Each Exposure Condition

Peak	Weight	Absolu	te Energ	y (J/m ²)	Relative	Energy	(dB) re:	1J/m ²
SPL (dB)		1X	10X	100X	1X	10X	100X	
150	None A	0.03 0.03	0.31 0.30	3.15 2.99	-15.02 -15.24	-5.02 -5.24	4.98 4.76	
155	None A	0.08 0.08	0.83 0.76	8.28 7.64	-10.82 -11.17	-0.82 -1.17	9.18 8.83	
160	None A	0.24 0.23	2.42 2.29	24.23 22.95	-6.16 -6.39	3.84 3.61	13.84 13.61	

Table VI

Octave Band Unweighted and A-Weighted Energy Flux (J/m^2) for a Single Impulse Generated by the Spark Gap Source.

	150 dB	Peak SPL	155 dB 1	Peak SPL	160 dB	Peak SPL
Octave Band CF (kHz)	Unwtg. Energy	A-Wtg. Energy	Unwtg. Energy	A-Wtg. Energy	Unwtg. Energy	A-Wtg. Energy
< 0.125 0.125 0.25 0.5 1.0 2.0 4.0 8.0	0.0018 0.0003 0.0001 0.0000 0.0002 0.0016 0.0105 0.0119 0.0024	0.0018 0.0000 0.0000 0.0000 0.0002 0.0021 0.0127 0.0095 0.0009	0.0003 0.0000 0.0002 0.0008 0.0036 0.0264 0.0375 0.0073	0.0003 0.0000 0.0001 0.0009 0.0049 0.0315 0.0299 0.0023	0.0026 0.0001 0.0000 0.0004 0.0019 0.0105 0.0811 0.1030	0.0026 0.0000 0.0002 0.0020 0.0140 0.0975 0.0841
> 16.0 Total	0.0026	0.0026 0.0299	0.0065	0.0065	0.0219 0.2423	0.0219 0.2295

Table VII

	5	-	-	• •	-	
	150 dB	Peak SPL	155 dB 1	Peak SPL	160 dB	Peak SPL
Octave Band CF (kHz)	Unwtg. SEL	A-Wtg. SEL	Unwtg. SEL	A-Wtg. SEL	Unwtg. SEL	A-Wtg. SEL
< 0.125	92.6	92.6	84.9	84.9	94.1	94.1
0.125	84.6	68.0	74.3	57.8	78.5	62.0
0.25	79.3	70.4	58.5	49.7	75.7	66.9
0.5	75.6	71.9	82.6	78.7	86.3	82.9
1.0	83.4	83.4	89.3	89.5	92.8	92.9
2.0	91.9	93.2	95.6	96.9	100.2	101.4
4.0	100.2	101.0	104.2	105.0	109.1	109.9
8.0	100.8	99.8	105.7	104.8	110.1	109.2
16.0	93.9	89.6	98.7	93.6	103.2	98.6
> 16.0	94.2	94.2	98.1	98.1	103.4	103.4
Total	105.0	104.8	109.2	108.8	113.8	113.6

Octave Band Unweighted and A-Weighted Sound Exposure Levels (dB) for a Single Impulse Generated by the Spark Gap Source.

Figures 5 through 11 present the group mean audiometric and histological results for 1, 10 and 100 impulses. The error bars represent one standard error of the mean above and below the mean. If error bars are not present, the standard error was less than the size of the symbol representing the mean. The following is an interpretation of the results presented in these figures and tables.

Frequency: The main effect of frequency represents the only within-subjects independent variable. In general, the main effect of frequency was statistically significant for most of the analyses that are reported in this manuscript. A significant frequency main effect indicates that the audiometric or histological losses are different at the various audiometric test frequencies or locations along the basilar membrane. The statistically significant interactions of between-subjects independent variables and frequency indicate that the effect of the between-subjects variable depends on the frequency at which the dependent variable is measured. Thus, a statistically significant interaction between peak and frequency for percent outer hair cell loss tells us that the effect of impulse peak on the outer hair cell losses depended upon the frequency (i.e., place on the basilar membrane) that the losses were measured. From examining the figures, it is apparent that little losses were sustained at the locations on the basilar membrane associated with the very low frequencies, while the most severe effects of the impulse were in the mid-frequency region of the cochlea and to a lesser degree in the high-frequency region. Since a statistically significant main effect of frequency and interactions between frequency and other main effects are expected in this type of study, we will not discuss frequency effects or interactions at length throughout the remainder of this report. It is important to remember, however, that many of the statistically significant effects interact with the within-subjects frequency variable and thus the significance of the between-subjects main. effects will be dependent upon the audiometric test frequency or the location in the cochlea.



Figure 3. Amplitude spectra and pressure-time waveforms for the blast waves from the electrical spark gap.

Electrical Spark Gap



Figure 4. The unweighted (upper) and A-weighted (lower) octave band analysis of the three blast waves.

Table VIII

Analysis of Variance Summary Table for Groups Exposed to 1 Impulse

Maximum Threshold Shift

Source of Variation	SS	df	MS	F	р
Peak	2.35	2	1.17	.02	.979
Between Subjects	647.41	12	53.95		
Frequency	557.16	2	278.58	7.34	.003
Peak x Frequency	157.28	4	39.32	1.04	.409
Within Subjects	911.48	24	37.98		

Permanent Threshold Shift

Source of Variation	SS	df	MS	F	p
Peak	24.92	2	12.46	.25	.780
Between Subjects	588.73	12	49.06		
Frequency	246.61	6	41.10	1.92	.089
Peak x Frequency	152.12	12	12.68	.59	.841
Within Subjects	1540.16	72	21.39		

Percent Inner Hair Cell Loss

Source of Variation	SS	df	MS	F	р
Peak	2.27	2	1.13	. 1.19	.337
Between Subjects	11.40	12	.95		
Frequency	6.98	7	1.00	2.23	.040
Peak x Frequency	6.86	14	.49	1.10	.374
Within Subjects	37.59	84	.45		

Source of Variation	SS	df	MS	F	р
Peak	6.32	2	3.16	.25	.782
Between Subjects	150.79	12	12.57		
Frequency	527.23	7	75.32	23.83	.000
Peak x Frequency	75.71	14	5.41	1.71	.068
Within Subjects	265.46	84	3.16		

Table IX

.....

Analysis of Variance Summary Table for Groups Exposed to 10 Impulses

Maximum Threshold Shift

Source of Variation	SS	df	MS	F	р
Peak	8671.63	2	4335.81	5.84	.006
Rate	1260.20	2	630.10	.85	.437
Peak x Rate	588.12	4	147.03	.20	.938
Between Subjects	26745.33	36	742.93		
Frequency	17168.38	2	8584.19	60.33	.000
Peak x Frequency	2100.18	4	525.05	3.69	.009
Rate x Frequency	187.69	4	46.92	.33	.857
Peak x Rate x Frequency	313.03	8	39.13	.27	.972
Within Subjects	10244.65	72	142.29		

Permanent Threshold Shift

Source of Variation	SS	df	MS	F	р
Peak	2401.48	2	1200.74	3.99	.027
Rate	124.66	2	62.33	.21	.814
Peak x Rate	33.86	4	8.47	.03	.998
Between Subjects	10843.18	36	301.20		
Frequency	1914.92	6	319.15	4.46	.000
Peak x Frequency	651.85	12	54.32	.76	.692
Rate x Frequency	625.34	12	52.11	.73	.723
Peak x Rate x Frequency	1255.03	24	52.29	.73	.817
Within Subjects	15451.27	216	71.53		

Percent Inner Hair Cell Loss

Source of Variation	SS	df	MS	·F	р
Peak	95.46	2	47.73	.60	.556
Rate	20.49	2	10.24	.13	.880
Peak x Rate	288.75	4	72.19	.90	.473
Between Subjects	2880.11	36	80.00		
Frequency	203.36	7	29.05	1.02	.417
Peak x Frequency	711.24	14	50.80	1.79	.041
Rate x Frequency	324.49	14	23.18	.81	.653
Peak x Rate x Frequency	522.25	28	18.65	.66	.909
Within Subjects	7169.07	252	28.45		

Source of Variation	SS	df	MS	F	P
Peak	1922.61	2	961.30	2.40	.105
Rate	35.74	2	17.87	.04	.956
Peak x Rate	1062.29	4	265.57	.66	.622
Between Subjects	14412.49	36	400.35		
Frequency	1879.70	7	268.53	2.39	.022
Peak x Frequency	2930.64	14	209.33	1.86	.031
Rate x Frequency	1161.36	14	82.95	.74	.735
Peak x Rate x Frequency	1431.81	28	51.14	.45	.993
Within Subjects	28322.85	252	112.39		

Table X

22

Analysis of Variance Summary Table for Groups Exposed to 100 Impulses

Maximum Threshold Shift

Source of Variation	SS	df	MS	F	р
Peak	2102.71	2	1051.36	1.13	.334
Rate	8024.77	2	4012.38	4.31	.021
Peak x Rate	1390.64	4	347.66	.37	.826
Between Subjects	32546.11	35	929.89		
Frequency	42760.47	2	21380.23	96.32	.000
Peak x Frequency	353.20	4	88.30	.40	.810
Rate x Frequency	307.84	4	76.96	.35	.845
Peak x Rate x Frequency	599.50	8	74.94	.34	.948
Within Subjects	15538.25	70	221.98		

Permanent Threshold Shift

Source of Variation	SS	df	MS	F	p
Peak	842.97	2	421.49	.47	.627
Rate	18078.81	2	9039.40	10.13	.000
Peak x Rate	7070.00	4	1767.50	1.98	.119
Between Subjects	31226.67	35	892.19		
Frequency	14937.01	6	2489.50	23.36	.000
Peak x Frequency	1852.41	12	154.37	1.45	.146
Rate x Frequency	4925.91	12	410.49	3.85	.000
Peak x Rate x Frequency	2537.79	24	105.74	.99	.478
Within Subjects	22381.66	210	106.58		

Percent Inner Hair Cell Loss

Source of Variation	SS	df	MS	. F	p
Peak	340.48	2	170.24	.30	.742
Rate	4982.75	2	2491.38	4.40	.020
Peak x Rate	5652.47	4	1413.12	2.49	.061
Between Subjects	19839.35	35	566.84		
Frequency	11290.69	7	1612.96	10.30	.000
Peak x Frequency	2095.17	14	149.66	.96	.500
Rate x Frequency	6756.49	14	482.61	3.08	.000
Peak x Rate x Frequency	8682.40	28	310.09	1.98	.003
Within Subjects	38370.61	245	156.61		

Source of Variation	SS	df	MS	F	р
Peak	1952.13	2	976.07	.55	.583
Rate	23847.68	2	11923.84	6.70	.003
Peak x Rate	18131.86	4	4532.96	2.55	.056
Between Subjects	62261.00	35	1778.89		
Frequency	54375.35	7	7767.91	23.92	.000
Peak x Frequency	3202.19	14	228.73	.70	.769
Rate x Frequency	19631.98	14	1402.28	4.32	.000
Peak x Rate x Frequency	14835.75	28	529.85	1.63	.027
Within Subjects	79551.59	245	324.70		

2. Impulse Presentation Rate: The effect of rate was examined in two separate analyses (Tables IX & X) of the groups exposed to 10 impulses and those exposed to 100 impulses. The main effect of impulse presentation rate was not statistically significant for any of the analyses for subjects exposed to 10 impulses, but was statistically significant for all audiometric and histological variables for groups exposed to 100 impulses. In these groups, the faster impulse presentation rate caused the greatest amount of damage.

There were also significant interactions between presentation rate and frequency for the groups exposed to 100 impulses. A significant interaction between rate and frequency for PTS and both histological variables suggested that the faster rates (10/m) were more hazardous than the slower rates. There were no statistically significant interactions involving rate in any of the analyses of groups exposed to 10 impulses.

In our earlier reports (ADA 206-180, ADA 221-731 and ADA 228-368), the data from Sources I, II and III (using impulses that had a lower frequency spectral distribution of energy) there was not a clear and consistent effect of impulse presentation rate upon the dependent variables. Tables XI and XII summarize the effects of impulse presentation rate on hearing trauma from all four sources. Table XI represents a subjective decision based upon the plotted postexposure data concerning which of the three rates caused the most hearing loss or cell loss. The term "mixed" indicates an exposure for which no clear determination of the most hazardous exposure could be made. Multiple contrasts may be performed on individual means to determine which groups showed the greatest losses at individual frequencies. However, visual inspection of Figures 5 through 11 also provides an indication of which groups are most severely damaged by the impulse noise exposures. The conclusions made from the visual inspection are unlikely to be appreciably different than those made using a large number of multiple contrasts.

Table XI

Summary evaluation of the exposure producing the greatest degree of trauma based upon the repetition rate of the impulse. Trauma is estimated on the basis of PTS and/or sensory cell loss.

	Source I	Source II	Source III	Source IV
150 dB 10X 150 dB 100X 155 dB 10X 155 dB 10X	mixed 1/m 1/m mixed	mixed mixed 1/m 10/m	mixed mixed 10/m	1/10m mixed 1/m 10/m
160 dB 10X 160 dB 100X	10/m 10/m	mixed 10/m	mixed mixed	mixed 10/m

A more objective approach to determining which exposure rate causes the greatest trauma can be obtained by computing the mean PTS evaluated at 1, 2 and 4 kHz and comparing the means across the various groups exposed to different impulse rates. Table XII presents the summary of such an evaluation.

The results shown in Table XI and XII differ for some exposure conditions because the sensory cell losses did not necessarily correlate perfectly with the PTS measure. Thus, based on the data from 12 groups of animals that were exposed to blast waves from Source IV at different rates, we are still unable to make any conclusive statement regarding the systematic effects of rate on the hazard to hearing resulting from blast wave exposure, although the slowest rate (1 impulse every 10 minutes) of exposure from Source IV seemed to cause the least damage. Examining all four sources together, however, gives the impression that the fastest rate (10 impulses per minute) is the most damaging, at least for the highest two energy conditions (155 and 160 dB peak SPL).

		Table XII				
Summary evaluation of the exposure producing the largest mean PTS evaluated at 1, 2 and 4 kHz, based upon repetition						
	rat	e of the impulse) }			
	Source I	Source II	Source III	Source IV		
150 dB 10X	1/m	1/10m	10/m	1/10m		
150 dB 100X	1/m	10/m	1/m	10/m		
155 dB 10X	1/m	1/m	1/m	1/m		
155 dB 100X	10/m	10/m	10/m	10/m		
160 dB 10X	10/m	1/10m	1/m	1/m		
160 dB 100X	10/m	10/m	10/m	10/m		

Number of Impulses: On the basis of the inconsistent effects of 3. repetition rate on the dependent variables, we have collapsed the data across the rate variable to allow us to analyze the effects of number of impulses (since rate cannot be used as a variable for groups exposed to a single blast wave). By collapsing across rate, an analysis of variance can be performed using impulse peak pressure, number of impulses and frequency as the three main factors. In this analysis (see Table XIII), the main effect of number of impulses was statistically significant for both audicmetric and both histological variables. Examining the figures it is clear that the single impulses caused the least amount of hearing and hair cell losses while the 100 impulses caused the greatest losses. The interaction of number of impulses and peak level also was statistically significant for all dependent variables. Thus, the effect of peak or number was dependent upon the level of the other In this case, there appears to be no effect of impulse peak for the variable. groups exposed to a single impulse, but an appreciable effect of peak between groups exposed to 10 or 100 impulses.

4. <u>Impulse Peak Pressure</u>: The main effect of impulse peak pressure was a factor in each of the four analyses reported above. The results of these analyses were consistent in that, in general, with the same number of impulses, the 150 dB impulses were less hazardous than the 160 dB impulses, with the 155 dB impulses causing a somewhat intermediate effect on the dependent variables.

The analyses of groups exposed to the same number of impulses show an effect of peak. In the groups exposed to a single impulse, the analysis show no statistically significant effect of peak. The main effect of peak pressure was statistically significant for only the audiometric variables from those groups exposed to 10 impulses. However, there were a number of statistically significant interactions of peak and frequency or between peak with frequency and rate, indicating that the effect of peak depended upon the audiometric frequency or place on the basilar membrane. In the analysis which included impulse peak and number (Table XIII), the main effect of peak pressure was not

Table XIII

13

Analysis of Variance Summary Table for all Groups Collapsed Across the Rate Variable

Maximum Threshold Shift

Source of Variation	SS	df	MS	F	p
Peak	3809.86	2	1904.93	2.54	.084
Number	67403.49	2	33701.75	44.98	.000
Peak x Number	2970.31	4	742.58	.99	.416
Between Subjects	71187.17	95	749.34		
Frequency	28651.29	2	14325.64	96.81	.000
Peak x Frequency	557.62	4	139.41	.94	.441
Number x Frequency	8176.85	4	2044.21	13.81	.000
Peak x Number x Frequency	1611.19	8	201.40	1.36	.216
Within Subjects	28116.02	190	147.98		

Permanent Threshold Shift

Source of Variation	SS	df	MS	F	P
Peak	1165.43	2	582.72	.80	.450
Number	24846.70	2	12423.35	17.15	.000
Peak x Number	771.92	4	192.98	.27	.899
Between Subjects	68814.18	95	724.36		
Frequency	5298.01	6	883.00	10.31	.000
Peak x Frequency	618.24	12	51.52	.60	.842
Number x Frequency	5999.82	12	499.98	5.84	.000
Peak x Number x Frequency	1743.47	24	72.64	.85	.675
Within Subjects	48837.95	570	85.68		

Percent Inner Hair Cell Loss

Source of Variation	SS	df	MS	F	Р
Peak	151.97	2	75.99	.21	.810
Number	4940.90	2	2470.45	6.88	.002
Peak x Number	123.56	4	30.89	.09	.987
Between Subjects	34105.58	95	359.01		
Frequency	2856.11	7	408.02	4.35	.000
Peak x Frequency	702.16	14	50.15	.53	.913
Number x Frequency	5634.59	14	402.47	4.29	.000
Peak x Number x Frequency	1441.29	28	51.47	.55	.973
Within Subjects	62385.68	665	93.81		

Source of Variation	SS	df	MS	F	p
Peak	1737.67	2	868.84	. 68	.508
Number	33172.29	2	16586.14	13.02	.000
Peak x Number	597.05	4	149.26	.12	.976
Between Subjects	121043.56	95	1274.14		
Frequency	13360.05	7	1908.58	8.71	.000
Peak x Frequency	1493.70	14	106.69	.49	.941
Number x Frequency	27351.43	14	1953.67	8.92	.000
Peak x Number x Frequency	y 3405.91	28	121.64	.56	.971
Within Subjects	145712.26	665	219.12		



Figure 5. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 1 blast wave



Figure 6. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 150 dB peak SPL



Figure 7. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 100 blast waves at 150 dB peak SPL



į.

Figure 8. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 155 dB peak SPL



Figure 9. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 100 blast waves at 155 dB peak SPL



Willio in

Figure 10. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 10 blast waves at 160 dB peak SPL



Figure 11. Mean TS_{max} (upper), PTS (middle) and sensory cell loss (lower) for groups of animals exposed to 100 blast waves at 160 dB peak SPL

significant nor were any of the two-way interactions that included the rate variable. However, the three-way interaction of rate with peak pressure and frequency was statistically significant for both histological dependent variables for groups exposed to 100 impulses, indicating an effect of rate that depended upon the peak pressure and the location on the basilar membrane at which the loss was measured. In the analysis which included impulse peak and number (Table XIII), the main effect of peak pressure was not statistically significant for any of the dependent variables, nor were any of the interactions of the other independent variables with peak. Therefore, as one would expect, the higher peak pressure impulses caused more damage than did the lower peak pressure exposures.

An alternate presentation of these data is shown in Figure 12 where the mean PTS evaluated at 1, 2 and 4 kHz ($PTS_{1,2,4}$), the percent total inner and outer hair cell loss for each animal are shown plotted as a function of the total sound exposure level. The density of the data points makes it difficult to distinguish between the individual animals of each exposure group. Nevertheless, the presentation of data in Figure 12 clearly shows the increase in variability that occurs from exposure levels above about 120 dB. Consider, for example, the animals exposed to the more severe conditions (i.e., to sound exposure levels above 130 dB). A number of animals show no PTS or sensory cell loss while others are severely traumatized. This degree of variability is a common observation following blast wave exposures and points out the need for an alternate approach to the data analysis.

C. CONCLUSIONS

The following preliminary conclusions can be made from the present data. (1) There was very little or no hearing loss or sensory cell loss for exposure to a single impulse at 150, 155 or 160 dB peak SPL. The variability among animals in these three groups was also relatively small. (2) There is a considerable increase in the variability or degree of susceptibility to trauma across animals as the severity of the exposure increases. The variability produces, in some extreme cases, a complete dichotomy in the results (i.e., within an experimental group of five animals, half the animals can show little or no effect of the exposure, while the remaining animals can be severely traumatized). Such a dichotomy makes it difficult to describe the data with conventional statistics. The only alternative seems to be to substantially increase the total number of animals in such exposure conditions. (3) With the above in mind a general, though not surprising trend in the data, is that as the peak levels and total energy increase permanent effects increase.

After completing exposures on 433 experimental subjects using four different sources, there appear to be several consistent trends emerging when the data are viewed in total. The first trend is that increases in variability correlated with increases in sound exposure level are consistent across the four sources. We have been developing alternative analytical procedures that show promise in their ability to adequately describe the results from the four sources and which may be used to predict the hazard posed by a variety of impulsive noise exposures (Hamernik et al., 1991). The second observation is that there is an increase in the frequency (or location) of maximum losses as the frequency of the peak of the A-weighted spectrum increased from 0.25 kHz (Source I) to 4.0 kHz (Source IV). In addition, at high sound exposure levels, each source causes a broad hearing loss across a three octave range. However, the most severe sensory cell lesions produced by Source IV do not extend as far into the low frequencies as do the lesions produced by the other three sources. Finally, while the issue of blast wave presentation rate is still ambiguous, it appears, from examination of the

results from all four sources (Tables XI and XII) that the faster repetition rates may be particularly hazardous, especially at high sound exposure levels.



Б.,

Figure 12a. The distribution of mean $PTS_{1,2,4}$ and percent cell losses from individual animals (N=104) for all exposure conditions



Figure 12b,c. The distribution of mean $PTS_{1,2,4}$ and percent cell losses from individual animals (N=104) for all exposure conditions

III. BIBLIOGRAPHY

- Coles, R.R., Garinther, G.R., Hodge, D.C., and Rice, C.G. (1968). Hazardous exposure to impulse noise. J. Acoust. Soc. Am. 43: 336-346.
- Davis, R.I., Ahroon, W.A. and Hamernik, R.P. (1989). The relation among hearing loss, sensory cell loss and tuning characteristics in the chinchilla. Hearing Research 41: 1-14.
- Davis, R.I. and Ferraro, J. (1984). Comparison between AER and behavioral thresholds in normally and abnormally hearing chinchillas. Ear and Hearing 5(3): 153-159.
- Eldredge, D.H., Miller, J.D. and Bohne, B.A. (1981). A frequency-position map for the chinchilla cochlea. J. Acoust. Soc. Am. 69: 1091-1095.
- Engstrom, H., Ades H.W. and Andersson, A. (1966). Structural Pattern of the Organ of Corti. Almqvist and Wiksell, Stockholm, Sweden.
- Fay, R.R. (1988). Hearing in Vertebrates. A Psychophysics Databook. Hill-Fay Associates, Winnetka, IL.
- Giraudi, D., Salvi, R.J., Henderson, D. and Hamernik, R.P. (1980). Gap detection by the chinchilla. J. Acoust. Soc. Am. 68: 802-806.
- Hamernik, R.P., Ahroon, W.A., Davis, R.I., Hsueh, K.D. and Turrentine, G.A. (1986). The Effects of Blast Trauma (Impulse Noise) on Hearing: A Parametric Study. Annual Summary Report I. State University of New York at Plattsburgh, Auditory Research Laboratory, Report ADA 206-180.
- Hamernik, R.P., Ahroon, W.A., Davis, R.I., Hsueh, K.D. and Turrentine, G.A. (1988). The Effects of Blast Trauma (Impulse Noise) on Hearing: A Parametric Study. Annual Summary Report II. State University of New York at Plattsburgh, Auditory Research Laboratory, Report ADA 203-854.
- Hamernik, R.P., Ahroon, W.A., Davis, R.I., Hsueh, K.D. and Turrentine, G.A. (1990). The Effects of Blast Trauma (Impulse Noise) on Hearing: A Parametric Study. Annual Summary Report III. State University of New York at Plattsburgh, Auditory Research Laboratory, Report ADA 221-731.
- Hamernik, R.P., Ahroon, W.A., Davis, R.I., Hsueh, K.D. and Turrentine, G.A. (1990). The Effects of Blast Trauma (Impulse Noise) on Hearing: A Parametric Study. Annual Summary Report IV. State University of New York at Plattsburgh, Auditory Research Laboratory, Report ADA 228-368.
- Hamernik, R.P., Ahroon, W.A. and Hsueh, K.D. (1991). The energy spectrum of an impulse: Its relation to hearing loss. J. Acoust. Soc. Am. 90: in press.
- Hamernik, R.P., Patterson, J.H. and Salvi, R.J. (1987). The effect of impulse intensity and the number of impulses on hearing and cochlear pathology in the chinchilla. J. Acoust. Soc. Am. 81: 1118-1129.
- Henderson, D. (1969). Temporal summation of acoustic signals by the chinchilla. J. Acoust. Soc. Am. 46: 474-475.
- Henderson, D., Hamernik, R.P., Woodford, C., Sitler, R.W. and Salvi, R. (1973). Evoked-response audibility curve of the chinchilla. J. Acoust. Soc. Am. 54: 1099-1101.

- Henderson, D., Hamernik, R.P., Salvi, R.J. and Ahroon, W. (1983). Comparison of auditory evoked potentials and behavioral thresholds in the normal and noise-exposed chinchilla. Audiology 22: 172-180.
- McGee, R., Ryan, A. and Dallos, P. (1976). Psychophysical tuning curves of chinchillas. J. Acoust. Soc. Am. 60: 1146-1150.
- Miller, J. D. 1970. Audibility curve of the chinchilla. J. Acoust. Soc. Am. 48: 513-523.
- Patterson, J.H. Curd, D.L., Carrier, M., Jr., Lomba-Gautier, I.M., and Jones, R.J. (1986). A chinchilla restraint system. USAARL Rpt. No. 86-1.
- Pfander, F., Bongartz, H. Brinkmann, H., and Kietz, H. (1980) "Danger of auditory impairment from impulse noise: A comparative study of the CHABA dam_ge-risk criteria and those of the Federal Republic of Germany. J. Acoust. Soc. Am. 67, 628-633.
- Salvi, R.J., Hamernik, R.P. and Henderson, D. (1978). Discharge patterns in the cochlear nucleus of the chinchilla following noise induced asymptotic threshold shift. J. Exp. Brain Res. 32: 301-320.
- Salvi, R.J., Ahroon, W.A., Perry, J.W., Gunnarson, A.D. and Hamernik, R.P. (1982a). Comparison of psychophysical and evoked potential tuning curves in the chinchilla. Am. J. Otolaryngol. 3: 408-416.
- Salvi, R.J., Giraudi, D.M., Henderson, D. and Hamernik, R.P. (1982b). Detection of sinusoidally amplitude modulated noise by the chinchilla. J. Acoust. Soc. Am. 71: 424-429.
- Smoorenburg, G.F. (1982) "Damage risk criteria for impulse noise," in New Perspectives on Noise-Induced Hearing Loss, eds. R.P. Hamernik, D. Henderson, and R.J. Salvi (Raven Press, New York).pp. 471-490.
- SPSS, Inc. (1986). SPSS^X User's Guide, McGraw-Hill, New York.
- Young, R.W. (1970) "On the energy transported with a sound pulse," J. Acoust. Soc. Am. 47,441-442.